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2t g dE T goldx SN 2t & dEE gofld S22
1 |Ex3+d 238 98,752,000 98,752,000 0| AL HI el 92,776,428 84,515,480 A8,260,948
2 |=EsS=Y SE3=+g 260,000 1,000,000 740,000 | AFRHI PR =8 2,400,000 2,800,000 400,000
3 | He= &Y= 2,000,000 0 A 2,000,000 | AHRHI S 3,435,572 6,210,000 2,774,428
4 |(01&3 OlE= 9,360 9,500 140 | &= I A&t 0 500,000 500,000
5 |&=¢g [SEals 10,000 10,000 0| At dI AHZ I 2,400,000 5,554,000 3,154,000
6 0 0 o|oiigigl & JIEF |olididl 2 JIEt 19,360 192,020 172,660

Mg A 101,031,360 99,771,500 A 1,259,860 NEF=] 101,031,360 99,771,500 A 1,259,860
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